SM: ol EOf ol T
(o]

B O EGID HEE L EMEB(ASEN/0 - HAH)
Col: A[OID BIE =M OB XA CER-E
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
L Ol &Of o1 1} 135,677,660 118,172,557 17,505,103
= 87,625,603
J| 148,260
= 12,135,565
Al 35,768,232
OtNolD H=2s “SME(AMISX /0 - HAad) 111,449,499 98,049,398 13,400, 101
= 75,198,761
Dl 148,260
== 8,856,677
Al 27,245,801
AXSED EI|& “ESME I8 XM 111,449,499 98,049,398 13,400, 101
= 75,198,761
Dl 148,260
== 8,856,677
Al 27,245,801
HESH EsME I 183,093 163,953 19, 140
201 52 A Y| 41,013 25,713 15,300
01 Ar®2teltl 38,376 23,076 15,300
= 0ff & 38,376 23,076 15,300
OoEXge 23 =4 2,000,000& x 14! 2,000
OSHEQl HlaHeta dX)
10,000 2,000 20,000
OLOI=XYP =3 &4 49
100,000& 109 13| 1,000
OLQLRE=A S201AHI|
8,000 x7H 8 x12& 5,376
OIDNSANZEHS &5 K&
5,000,000& * 14! 5,000
O=XAIE 2AHXL A28 =&
5,000,000 14! 5,000
02 =324 2,637 2,637 0
= 0l & 2,637 2,637 0
OL=XANES A 22l
2,637 ,000& * 14! 2,637
202 04| 5,280 6,240 A 960
01 =2UWAH 5,280 6,240 960
= 0 & 5,280 6,240 A 960
Ok =X ER2FE Ul 60,0002 x6H x4 1,440
OLQLHM HRFA Y|
60,000 *16H x4 3,840
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2 A = &) Dt
HzH: OtNGID Si=st “SME(ASEX/E0 - H34AH)
el A&otn 0| =48 J|gt =4 (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
O=&Al L0135 24H &
1,344,080& x12& 16,129
Okolg HII&E3 29 XA
9,000,000& =14l 9,000
Odzg MEFR=s= NF  50,000& *6434 2~ 32,150
O808s Log dJAn= 8,500,000& *x23] 17,000
Odzg Tz )aae 294 X
25,467,000 =14 25,467
== 5,092
Al 20,375
Okodsss (Mg =o=x02
AFED) 4,300,000& =14 4,300
OLoHLEXNUHE 29 (8HE) 70,461
— BANE L BDUE S
93,000& *18JH A~ x 1000 & 43| 66,960
— JIEIAFR 22l HI 194 ,500& 18I0 £ 3,501
=FHAILCE 29 245 XN 44,648 52,320 NT,672
== 13,394
Al 31,254
307 12H01 & 44,648 52,320 NT,672
= 13,394
Al 31,254
11 AMISIAMNGEX 44,648 52,320 NT,672
== 13,394
Al 31,254
= Ol & 44,648 52,320 NT,672
= 13,394
Al 31,254
OAl Lolg 29 g43 K&
44 648,000 1Al 44 648
== 13,394
Al 31,254
9988& H (S HLQ ZSHE=M)2HE 365,040 370,000 A 4,960
201 B2 A Y| 15,040 20,000 AN4,960
01 Ar®2telt] 5,040 10,000 AN 4,960
= 0ff & 5,040 10,000 N4 ,960
09988 &H 2% 22l 5,000 x84 A~ x12& 5,040
03 HAI2HH| 10,000 10,000 0
= 0ff &F 10,000 10,000 0
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X ZH -
L=

el

PEGtD gEE e
AWGID BIIF =EME

o)
{0
]
{0

Oll &F o

& 1 = 0f 4 o

SN -3 -S(3) - NRA - BES (Z= o) (713 o) HnsZ
OXH& S AEH 2 9988 & &t0tE IH =
10,000,000& =13l 10,000
307 2IzZtol A 276,000 276,000 0
11 MIAZEXAMEEE 276,000 276,000 0
= 0l &t 276,000 276,000 0
OSHEUSSHF 234l
276,000,000& =14 276,000
402 2t+=0ld 74,000 74,000 0
01 SItX= At 2 (KM &) 74,000 74,000 0
= 0fl & 74,000 74,000 0
O=EHLAZSSHFANEES L HEXE
5,285,650 x 140K 2= 74,000
FZ2a& MY HAJEsE =H 227,000 187,000 40,000
201  LEr2EH| 3,000 3,000 0
01 ArR2eltl 3,000 3,000 0
= 0l & 3,000 3,000 0
OoHolg (=l &) At
3,000,000 =14 3,000
301 ZEEH= 4,000 4,000 0
01 MEEFHSG6S 4,000 4,000 0
= 0l & 4,000 4,000 0
Ooole LA=SXAE /2
4,000,000& =13l 4,000
307 2IZtol A 220,000 180,000 40,000
04 SIZFAAHE X 220,000 180,000 40,000
= 0l & 220,000 180,000 40,000
OLolo 4 ASEHS)
9,166,660 245 H = 220,000
CoMEAIE X3 AL 3,964,266 3,760,139 204,127
& 1,981,933
Al 1,982,333
301 Zet2d= 3,944,246 3,738,484 205,762
& 1,972,123
Al 1,972,123
01 A EFH=0= 3,944,246 3,738,484 205,762
& 1,972,123
Al 1,972,123
= 0l & 3,944,246 3,738,484 205,762
& 1,972,123
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SN

HE: OFGD W= - SMB(AMISK/C0 - HAE)
©el AMGHD EIIT -=4E OlE £4 (B9 @2
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
Al 1,972,123
OLQMEAL(S2UN) 2 X2
40,720,000%! * 144 40,720
= 20,360
Al 20,360
OLQMEAE(ARZHLBAR BIQY
NRHS L) 20 AR
3,903,526, 000! *14! 3,908,526
= 1,951,763
A 1,951,763
307 9120l H 20,020 21,655 ~1,635
= 9,810
Al 10,210
1 AMESTAYEE 20,020 21,655 A1,635
= 9,810
Al 10,210
=0 & 20,020 21,655 A1,635
= 9,810
Al 10,210
OJELQ AARSH K@ 400,0008 *14! 400
OwQI=X AL LAY L EAHSAH (100
%) 2,100, 0008 *14] 2,100
= 1,050
Al 1,050
OEQ=X AL SE34Y|
17,520,002 * 14! 17,520
= 8,760
Al 8,760
W= =TAIE U ALY 2,837,518 2,046,119 791,399
= 567,503
Al 2,270,015
301 YuBAD 2,837,518 2,046, 119 791,399
= 567,503
Al 2,270,015
01 AMEIEE= 262 2,837,518 2,046, 119 791,399
< 567,503
Al 2,270,015
=0 & 2,837,518 2,046, 119 791,399
& 567,503
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SN

Hu: HEolD HEE L EME (A
S A&olD EI& “FME DBt e = A
OH OH
S BB S (3H) - Al o) o) s2
Al 2,270,015
OMIEEXNAE 2dHI(223
LY XXMELZ2P,693,972,000 *1 2,693,972
= 538,794
Al 2,155,178
OMIMNE=RAE (SSAX) 89l X
bl 143,546,000 *1 143,546
= 28,709
Al 114,837
AZAM 24 XA 660,258 646,840 13,418
= 462,181
= 59,423
Al 138,654
301 LerEAZ 660, 258 646,840 13,418
= 462,181
& 59,423
Al 138,654
01 AMIEFHHI3 660,258 646,840 13,418
= 462,181
= 59,423
Al 138,654
= 0l & 660, 258 646,840 13,418
= 462,181
= 59,423
Al 138,654
OL=Z A4 294 XA 660,258,000 14! 660, 258
= 462,181
= 59,423
Al 138,654
LOI=SXIAAE SAL SE2Y 28,080 28,920 A 840
= 14,040
Al 14,040
307  QI2tol A 28,080 28,920 A 840
& 14,040
Al 14,040
11 ASSAAEES 28,080 28,920 A 840
= 14,040
Al 14,040
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SM: ol EOf ol T
(o]

HE: OFGD W= - SMB(AMISK/C0 - HAE)
©el AMGHD EIIT -=4E OlE £4 CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 0l & 28,080 28,920 840
= 14,040
Al 14,040
OLQIMEAL EAK SEae(223)
12,840, 0002 *14! 12,840
= 6,420
Al 6,420
OLRAE ZAX SH2(138)
12,720, 0002 *14! 12,720
= 6,360
Al 6,360
OMI=QEX AL SAK SeELY
2,520,000 * 14! 2,520
= 1,260
Al 1,260
SEX=E=I E 85,842,796 75,322,881 10,519,915
= 68,674,237
= 3,433,712
Al 13,734,847
301 LerEAR 85,842,796 75,322,881 10,519,915
= 68,674,237
3,433,712
Al 13,734,847
01 MEIEEH2H2 85,842,796 75,322,881 10,519,915
= 68,674,237
= 3,433,712
Al 13,734,847
= 0 4t 85,842,796 75,322,881 10,519,915
2 68,674,237
= 3,433,712
Al 13,734,847
CREX-EN ! 85,842,796,0002! * 14! 85,842,796
2 68,674,237
= 3,433,712
Al 13,734,847
Mdolg P8I NAAL 10,200 10,200 0
= 5,100
Al 5,100
307 @120l 10,200 10,200 0
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SM: ol EOf ol T
XM ZH: O
(=N B —

el AHA g & M =l SR SR
SNBSS (BH) - MEAY - B2 (ggz::) @(Lﬂle;jﬁ;ﬂ =2
307 QIz2tol & = 5,100
Al 5,100
01 2L P2 H| 10,200 10,200
== 5,100
Al 5,100
= 0l & 10,200 10,200
= 5,100
Al 5,100
Odols 8D XS AFE 10,200,000 x 14! 10,200
== 5,100
Al 5,100
MNAS Z2ALH L0 METS 451,770 451,770
Dl 148,260
== 17,780
Al 285,730
307 QIz2tol A 451,770 451,770
J| 148,260
== 17,780
Al 285,730
05 QItRE= 10,000 10,000
= Ol & 10,000 10,000
OxXx=nREzzrALr 29 2,500,000& *43| 10,000
11 Al SXAIEE X 441,770 441,770
J| 148,260
== 17,780
Al 275,730
= 0ff A 441,770 441,770
Dl 148,260
== 17,780
Al 275,730
OdzAY 223 AXd(=d=214ge 3
HA) 370,650,000 * 14 370,650
J| 148,260
Al 222,390
OMASMIII-CIAANHIE (=S EHAIE =
X2l 10HA) 71,120,000 =14 71,120
& 17,780
Al 53,340
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SM: ol EOf ol T
(o]

B O EGID HEE L EMEB(ASEN/0 - HAH)
Col: A[OID BIE =M OB XA CER-E
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
ColdRiel L ASEsXE 2 6,676,790 6,371,330 305,460
= 3,338,395
= 1,335,358
Al 2,008,037
201  LEt249H| 40,000 40,000 0
= 20,000
= 8,000
Al 12,000
01 AtRZ2lYl 40,000 40,000 0
= 20,000
== 8,000
Al 12,000
= 0ff &F 40,000 40,000 0
= 20,000
= 8,000
Al 12,000
OLoldXtel Al =&Hl 40,000,000 *14] 40,000
= 20,000
& 8,000
Al 12,000
202  Oidl 5,000 5,000 0
= 2,500
& 1,000
Al 1,500
01 =AYl 5,000 5,000 0
= 2,500
== 1,000
Al 1,500
= 0l & 5,000 5,000 0
= 2,500
= 1,000
Al 1,500
Ok olgdXielAgy d2 =& Kl
5,000,000 *14] 5,000
= 2,500
= 1,000
Al 1,500
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SM: ol EOf ol T
(o]

B O EGID HEE L EMEB(ASEN/0 - HAH)
Col: A[OID BIE =M OB XA CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
301 detEaz 6,626,790 6,321,330 305,460
= 3,313,395
& 1,325,358
Al 1,988,037
01 A EEESGH S 6,626,790 6,321,330 305,460
= 3,313,395
< 1,325,358
Al 1,988,037
= 0ff &F 6,626,790 6,321,330 305,460
= 3,313,395
= 1,325,358
Al 1,988,037
OLolXteldted At
6,626,790,0003 14| 6,626,790
= 3,313,395
= 1,325,358
Al 1,988,037
405  RHaHFE SHI 5,000 5,000 0
= 2,500
= 1,000
Al 1,500
01 A& YLESSFHSHI 5,000 5,000 0
= 2,500
= 1,000
Al 1,500
= Ol & 5,000 5,000 0
= 2,500
= 1,000
Al 1,500
OLolgd ety Faz2d 8572
5,000,000 *14] 5,000
= 2,500
& 1,000
Al 1,500
AMUNHEY 22 XA 224,200 224,200 0
= 68,100
Al 156, 100
307 glztol & 224,200 224,200 0
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2 A = &) Dt
HzH: OtNGID Si=st “SME(ASEX/E0 - H34AH)
el A&otn 0| =48 J|gt =4 (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
307 QIz2tol & = 68, 100
Al 156, 100
10 AISISXAIEEHESIHIEX 220,000 220,000 0
== 66,000
Al 154,000
= 0l & 220,000 220,000 0
= 66,000
Al 154,000
OALIZEYE 28 XE 220,000,000& * 14! 220,000
== 66,000
Al 154,000
11 AMIASXAEEXR 4,200 4,200 0
o= 2,100
Al 2,100
= Ol & 4,200 4,200 0
== 2,100
Al 2,100
OANMLINZ2E SMAL SE82Y
4,200,0003 * 14! 4,200
c 2,100
Al 2,100
NEESE CoURIAL (= KA 10,280 51,400 AN41,120
== 5,140
Al 5,140
301 ot A= 10,280 51,400 N41,120
== 5,140
Al 5,140
01 AMSIEEE=G=2 10,280 51,400 N41,120
o= 5,140
Al 5,140
= 0l & 10,280 51,400 N41,120
== 5,140
Al 5,140
OXNEESE LodXelArd (= RHA)
10,280,000& » 14! 10,280
== 5,140
Al 5,140
=2S30 HEds 29 884,000 884,000 0
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SM: ol EOf ol T
(o]

M OlFGD HEE CEME(ASIZX/ O - HAE)
£ AWSID BT =2HE JIY XY CERE
x s . Of &t o8 & & 0 A o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
301 LUEAI 884,000 834,000 0
01 ASIZZ=2063 884,000 884,000 0
=004 884,000 834,000 0
OBS50l H2ME 2SH N
270,0002 * 1274 2 *260% 842,400
OB2520 H2MEH BESE S X2
160, 000! *260% 41,600
24l ot BUH 29 6,300 34,980 £.28,680
201 sty 6,300 7,980 A 1,680
02 Tzl 6,300 6,300 0
=204 6,300 6,300 0
Q024 ot ZHEH 29 S
35,0001 * 15CH 122 6,300
ARl EEl LA (SHEO SEIZMHIA) 1,768,163 851,179 916,984
= 1,237,702
= 159, 135
Al 371,326
307 2120l H 1,768,163 851,179 916,984
= 1,237,702
= 159, 135
Al 371,326
1 ABI=STALRE 1,768,163 851,179 916,984
= 1,237,702
= 159, 135
Al 371,326
=0 1,768,163 851,179 916,984
= 1,237,702
= 159, 135
Al 371,326
OAMZ2l BLHH(SAH-L SEII=A
{ES) 1,768,163, 000! *14! 1,768,163
2 1,237,702
= 159, 135
Al 371,326
Al HLHH nSH N 36,000 36,000 0
307 eI2o0lH 36,000 36,000 0
11 AS=SXALRE 36,000 36,000 0
=0 36,000 36,000 0
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A S HO0C Bt
B O EGID HEE L EMEB(ASEN/0 - HAH)
Col: A[OID BIE =M OB XA CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
OAtell2tel dEXH nsSHl X
50,000 x60H 12& 36,000
SHCOAMS2HELESFAMS KR 50,000 50,000 0
2 35,000
= 7,500
Al 7,500
307 QIztol ™ 50,000 50,000 0
= 35,000
= 7,500
Al 7,500
11 AMISAASES 50,000 50,000 0
= 35,000
= 7,500
Al 7,500
= 0l & 50,000 50,000 0
= 35,000
= 7,500
Al 7,500
OsH AMSI2H 84835 K&
50,000, 0003 *14] 50,000
= 35,000
= 7,500
Al 7,500
SHLZSSHML SSHELHAMHA 2HX 64,638 63,522 1,116
= 32,319
& 9,696
Al 22,623
307  glztol A 64,638 63,522 1,116
= 32,319
= 9,696
Al 22,623
11 A SXAISEE X 64,638 63,522 1,116
= 32,319
= 9,696
Al 22,623
= 0l & 64,638 63,522 1,116
= 32,319
= 9,696
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SN

HzH: OtNGID Si=st “SME(ASEX/E0 - H34AH)
el A&otn 0| =48 J|gt =4 (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Al 22,623
OSAHEO SZTHMNL S3HN 2 AHI
A 2N 64,638,000 14 64,638
= 32,319
= 9,696
Al 22,623
0T E SHEQ A o™ LS AHIAALSY 27,385 0 27,385
== 8,215
Al 19,170
402 SItXpE01 ™ 27,385 0 27,385
== 8,215
Al 19,170
02 QIAX2AILEZ(0IETHE) 27,385 0 27,385
== 8,215
Al 19,170
= 0l & 27,385 0 27,385
== 8,215
Al 19,170
OINTEE SHLO AHZLHHEL 2 HEIA A}
A 27,385,000 =14 27,385
= 8,215
Al 19,170
LOoOsEssSs MU A S EX 1,292,556 939,206 353,350
= 904,858
= 116,339
Al 271,359
308 AXEHMSOIHA 1,292,556 939,206 353,350
904,858
== 116,339
Al 271,359
10 SIS USHEAXNAEAS | 1,292,556 939,206 353,350
= 904,858
& 116,339
Al 271,359
= Ol & 1,292,556 939,206 353,350
= 904,858
== 116,339
Al 271,359
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SN

M OtMGtD HES SSME(ASSX/ L0 - HAH)
9 ANGID BIE LS Oy XA CER-E
SA BB (AH) - HBAY - BA= o) ) HDE 2
OkolE=sa ML 1,292,556,000& =14 1,292,556
= 904,858
= 116,339
Al 271,359
SOIJLAEAEI A SO EX 1,048 1,590 AbB42
2 730
& 94
Al 224
308 XXEHXMSOIA 1,048 1,590 ADB42
= 730
= 94
Al 224
10 SI2SHUHSZAHAE AIS I 1,048 1,590 VANV
= 730
= 94
Al 224
= 0l & 1,048 1,590 ADB42
= 730
& 94
Al 224
OHIIIIALMBIA KT & 1,048,000 *14] 1,048
= 730
= 94
Al 224
FUSAANEES 787,280 759,370 27,910
201  Let2g| 61,740 58,650 3,090
01 At2R2e2ldl 21,420 18,330 3,090
= 0l & 21,420 18,330 3,090
OFUSTAIE HoAAS 3+
100,000& *3% 13| 300
OZFR=TAL S5 S04
8,000 x3H x5 «12& 1,440
OSds sg=lzga 2Y
2,500, 000& *6IH 2~ 15,000
OSHSITEEANH RoZHALAEES
97,500 x4 A+ 12 4,680
02 =294l 40,320 40,320 0
= 0ff &F 40,320 40,320 0
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SN

HE: OFGD W= - SMB(AMISK/C0 - HAE)
©el AMGHD EIIT -=4E OlE £4 (B9 @
x s . Of &t o8 & & 0 A o -
N-Z3H .22 (3H) - MRAY - BES (Z= o) (713 o) Hns2
Oseis za=xs2 2 SNAE SN
1,680,000 *6H 4 43| 40,320
202 Oft 540 720 A180
01 2ol 540 720 A 180
=0 & 540 720 A180
OFQSTAIL 2= ST Y|
60,0002 *32 *32! 540
401 ANSHILLHY 275,000 250,000 25,000
01 Al&HI 275,000 250,000 25,000
=0 &t 275,000 250,000 25,000
OF=2Y M(5)E L WELTA(HE2E
dzg o) 15,000,000 *14! 215,000
OFASTAE AN&RT bl
60,000,000% *14] 60,000
402 UAREO0IH 450,000 450,000 0
01 QIERE AR E (XHH R ) 450,000 450,000 0
=0 & 450,000 450,000 0
OYEY N(B)5 2 W24 450,000
—saERYel 20
150,000, 0002 %304 2 450,000
COQUALHE () SBY)MY 308,702 564,710 256,008
2 154,351
3 77,175
Al 77,176
402 PIAT RO 308,702 564,710 256,008
2 54,351
= 77,175
Al 77,176
02 QIR AR E (OIFTHR) 308,702 564,710 256,008
2 154,351
= 77,175
Al 77,176
= 0l 4t 308,702 564,710 256,008
2 154,351
& 77,175
Al 77,176
OwQIRUAIE HZAY 308,702,008 14! 308,702
= 154,351
& 77,175
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2 A = &) Dt
HzH: OtNGID Si=st “SME(ASEX/E0 - H34AH)
el A&otn 0| =48 J|gt =4 (e &
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;lﬁ% HRE2
| | Al 77,176
SHE Scssd 291 & JIs:2d 120,032 100,000 20,032
= 50,000
Al 70,032
101 [Slals] 20,032 0 20,032
04 JIZtHZ2ZXNSE S 20,032 0 20,032
= 0l & 20,032 0 20,032
Ogz zz==m 22 oy 8,248
—Jl2=2 8,350 *x7 Al 2 %140 8,183
—MHEE 8,183,000& *0.79% 65
OlE ss3=d 29 o124 11,784
EAR==1 8,350& *x7 Al 2t%200 11,690
—MHEE 11,690,000 *0.8% 94
201 282 A Y| 40,000 32,000 8,000
= 20,000
Al 20,000
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= 1,000
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== 19,000
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Z2E LA XX AS
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sol=sl Jbel 5000 A*100,000% 50,000
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Al 682,240
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QICIIETAL HX S X 335,000 0 335,000
= 335,000
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01 60,000 0 60,000
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3 SLARY, BHR5-1 O
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OHeE A2Y JsEY L e+
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= 60,000
OMMEIB5 48P 212LY
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= 20,000
OSLUOIE Z2Y H22AY
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= 15,000
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= 50,000
A2Y AN Lt X 1,067,200 985,500 81,700
2 266,800
= 266,800
Al 533,600
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Al 533,600
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Al 25,600
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OXMOXNATHEAILE SH(ES 2I1L= M
a) 275,790,000& * 1A 275,790
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Al 228,905
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= 0l & 424,574 424,574
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OOl L Rtel X (Lera dxtel)
424574, 0002 * 14! 424,574
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== 106, 143
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ZHof oI L X2l X2 (Al 2+ M Xtel) 67,076 67,076
= 33,538
& 16,769
Al 16,769
301 LerEazg 67,076 67,076
33,538
& 16,769
Al 16,769
01 A EEESHS 67,076 67,076
= 33,538
o= 16,769
Al 16,769
= 0l &F 67,076 67,076
= 33,538
= 16,769
Al 16,769
Ol L Xtel X2 (Al2HR L Xtel)
67,076,000 *14] 67,076

- 392 -




S QIE D
B F o)
(¢]

15 SXANSE(MISX/HLHESXHA)
chel: ZoHe dEsE SXNAHA W3 (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 33,538
= 16,769
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ORI LRl XS (SR LAel) 607,200 607,200 0
= 303,600
& 151,800
Al 151,800
307  glztol A 607,200 607,200 0
= 303,600
151,800
Al 151,800
05 CIZtAEZ 607,200 607,200 0
= 303,600
= 151,800
Al 151,800
= 0l & 607,200 607,200 0
= 303,600
& 151,800
Al 151,800
O LRl XS (SXLAtel)
607,200,000 14! 607,200
= 303,600
= 151,800
Al 151,800
=dg ZOHA LRl At 57,500 48,962 8,538
301 etEaz 57,500 48,962 8,538
01 MIBEHEESHS3 57,500 48,962 8,538
= 0l & 57,500 48,962 8,538
Oz ALl AE 57,500,000 *14] 57,500
Al 2 Z 00 Q1 OHOFAFIFA AFS 62,443 93,666 AN31,223
= 49,955
= 6,244
Al 6,244
307 QIztold 62,443 93, 666 A31,223
= 49,955
& 6,244
Al 6,244
05 QIZtRAES 62,443 93,666 A 31,223
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Sol: Hojol REY =NMHIA HE (cte: @
x s . Of &t o8 & & 0 A o -
SN -3 -S(3) - NRA - BES (Z= o) (713 o) HnsZ
05 PIALASS = 49,955
= 6,244
Al 6,244
= 0f & 62,443 93,666 ~31,223
=2 49,955
= 6,244
Al 6,244
OAIZZOHQl OHOFAF THA AFEY
62,443,0002 * 14} 62,443
=2 49,955
= 6,244
Al 6,244
USTALYBS A BEAY 185,926 185,926 0
= 92,963
= 46,481
Al 46.482
307 2120l E 185,926 185,926 0
= 92,963
= 46,481
Al 46,482
05 PIAAeS 185,926 185,926 0
= 92,963
= 46,481
Al 46,482
=0 4 185,926 185,926 0
=2 92,963
= 46,481
Al 46,482
OLLHMWARLALSAN BEAY
185,926,000 * 14! 185,926
= 92,963
= 46,481
Al 46,482
Zojet 2 6,002, 166 5,443,283 558,883
= 4,201,516
= 540, 195
Al 1,260,455
301 YerEa3 6,002, 166 5,443,283 558,883
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S QIE D
B F o)
(¢]

15 SN (M=SX/HLHSX )
chel: ZoHe dEsE SXNAHA W3 (e &
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
301 ergaa = 4,201,516
= 540,195
Al 1,260,455
01 AMEFESHI3 6,002, 166 5,443,283 558,883
= 4,201,516
= 540,195
Al 1,260,455
= 0l & 6,002, 166 5,443,283 558,883
= 4,201,516
& 540,195
Al 1,260,455
OFMed=za 20 X=
6,002,166,000& =14 6,002, 166
= 4,201,516
& 540,195
Al 1,260,455
o= (0I=x) 588, 143 587,030 1,113
= 411,700
= 52,933
Al 123,510
301 LetgEAaZ2 588, 143 587,030 1,113
= 411,700
= 52,933
Al 123,510
01 AIEFESHS 588, 143 587,030 1,113
= 411,700
= 52,933
Al 123,510
= 0ff &F 588, 143 587,030 1,113
= 411,700
= 52,933
Al 123,510
OFM=< (=) X2 588,143,000& 14! 588, 143
= 411,700
= 52,933
Al 123,510
(AR S) 526,888 529,188 A2,300
= 368,822
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S QIE D
B F o)
(¢]

15 SXANSE(MISX/HLHESXHA)
chel: ZoHe dEsE SXNAHA W3 (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
= 47,420
Al 110,646
301 LEtEAZF 526,888 529,188 A 2,300
= 368,822
= 47,420
Al 110,646
01 MIEHEE=SHS3 526,888 529, 188 A 2,300
= 368,822
= 47,420
Al 110,646
= 0l & 526,888 529,188 A 2,300
= 368,822
= 47,420
Al 110,646
OBMLB (RN S) NS
526,888,000 » 14! 526,888
= 368,822
= 47,420
Al 110,646
Zoielelzdl KA 477,454 233,739 243,715
= 381,963
= 28,647
Al 66,844
308 XXSHMSOIH 477,454 233,739 243,715
= 381,963
= 28,647
Al 66,844
10 I 2SHCHSHE & X E AL I 477,454 233,739 243,715
= 381,963
= 28,647
Al 66,844
= 0l &F 477,454 233,739 243,715
= 381,963
& 28,647
Al 66,844
O&ofeloZHl X 477,454,000 14! 477,454
= 381,963
= 28,647
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S QIE D
o HUNHE SNSN(ASSX/HAHESXE)
SRl FOIQ XEH SXMHIA HB

e = A
SH-EH. O (AN) - NRANY - B (X o) o) s

| | Al 66,844

EXI|FUR 14,787 14,787
= 11,830
Al 2,957

301 LEEAZ 14,787 14,787
= 11,830
Al 2,957

01 A EEE 063 14,787 14,787
= 11,830
Al 2,957

=0 At 14,787 14,787
= 11,830
Al 2,957
OBXJ|+ U= 14,787 ,000& %14 14,787
= 11,830
Al 2,957

HeZOoHel s4HEXE 5,000 5,000
= 3,500
= 750
Al 750

301 LerEA3 5,000 5,000
= 3,500
& 750
Al 750

01 A EEESHS 5,000 5,000
= 3,500
& 750
Al 750

= 0ff &F 5,000 5,000
= 3,500
= 750
Al 750
OWAdZOe S4&HIE XA 5,000,000 *14] 5,000
= 3,500
& 750
Al 750

HNAsSEMe AEH L HArdH XI& 5,409 5,409
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S QIE D
o HUNHE SNSN(ASSX/HAHESXE)
SRl FOIQ XEH SXMHIA HB

SR
SH-EH. O (AN) - NRANY - B (X o) o) s

2 2,705
= 1,352
Al 1,352

301 LEEAZF 5,409 5,409
= 2,705
= 1,352
Al 1,352

01 Al2EZ " 03 5,409 5,409
= 2,705
= 1,352
Al 1,352

= 0l & 5,409 5,409
= 2,705
& 1,352
Al 1,352

OMASZEO &EH 2 ZAH K&

5,409,000 *14] 5,409
= 2,705
== 1,352
Al 1,352

ZOHQl WAl X MH 42,895 42,895
= 9,865
Al 33,030

307 QIztol M 42,895 42,895
= 9,865
Al 33,030

11 MISXNAMLEES 42,895 42,895
= 9,865
Al 33,030

= 0l & 42,895 42,895
= 9,865
Al 33,030

OXMBOHC HOANML XNJALMH 2H

42,895,000& 14l 42,895
& 9,865
Al 33,030

ZOofol Stolma RdlE X 4,560 4,560
& 2,280

- 398 -




2 A = &) Dt
B HOME 2NSA (M= /HAHENR)
S e XFE SAAMUA WS (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
Al 2,280
301 ot A= 4,560 4,560 0
== 2,280
Al 2,280
01 AMISIBEEE=G=2 4,560 4,560 0
= 2,280
Al 2,280
= 0ff A 4,560 4,560 0
== 2,280
Al 2,280
OZO0HQ! SOl A P2UHIE X
4,560,000 14! 4,560
== 2,280
Al 2,280
S THENEA HIRH A& 717,289 762,480 AN45,191
= 502,102
== 64,556
Al 150,631
308 XXESHMSOIA 717,289 762,480 AN45,191
= 502,102
== 64,556
Al 150,631
10 2|2 SOHSHE A AP E AN HI 717,289 762,480 N45,191
= 502,102
== 64,556
Al 150,631
= 0l & 717,289 762,480 AN45,191
= 502,102
== 64,556
Al 150,631
Oogg e Ml A HH™H X
717,289,000& * 14! 717,289
= 502,102
== 64,556
Al 150,631
AHEE XS H2AHd X& 11,530 6,709 4,821
= 8,071
== 1,038
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SN

PSP & SEXNSA(AZEXN/FHSHSX )
S e XFE SAAMUA WS (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
Al 2,421
308 AXESHMSOIHA 11,530 6,709 4,821
= 8,071
& 1,038
Al 2,421
10 SIZ2SHHSHE & EP EAS Y 11,530 6,709 4,821
= 8,071
== 1,038
Al 2,421
= 0l & 11,530 6,709 4,821
= 8,071
== 1,038
Al 2,421
OPHEEXNE X X
11,530,000 1Al 11,530
= 8,071
== 1,038
Al 2,421
ZOotsS MEXE AMUlA 42,000 42,000 0
= 21,000
Al 21,000
307 212t0l A 42,000 42,000 0
== 21,000
Al 21,000
05 QIZtREZ 42,000 42,000 0
== 21,000
Al 21,000
= 0l & 42,000 42,000 0
== 21,000
Al 21,000
OgdHEANE A T 20 42,000,000 1A 42,000
== 21,000
Al 21,000
SSEA gsHISXE 2,710 5,420 N2,710
= 2,168
c 271
Al 271
307 QI2t01 A 2,710 5,420 N2,710
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S QIE D
B F o)
(¢]

15 SN (M=SX/HLHSX )
Ciol: mOjOl WEE =AAHIA M2 CERT
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
307  glztol A = 2,168
= 271
Al 271
11 AMISAAMBES 2,710 5,420 A2,710
= 2,168
= 271
Al 271
= 0l & 2,710 5,420 A2,710
= 2,168
= 271
Al 271
OS2=FA st 2R 2,710,000 *14] 2,710
= 2,168
& 271
Al 271
SO RR2A4E XA 3,878 2,806 1,072
= 2,714
= 562
Al 582
308 XXESHXMSOIH 3,878 2,806 1,072
2,714
= 582
Al 582
10 SIZ2SHUHSZAHRAE AIS I 3,878 2,806 1,072
= 2,714
= 582
Al 582
= 0l & 3,878 2,806 1,072
= 2,714
= 582
Al 582
OggdMe LAY 3,878,000 x14] 3,878
= 2,714
& 582
Al 582
Zoo2sSXAZHAA 7,003,095 4,882,835 2,120,260
= 4,902, 166
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S QIE D
B F o)
(¢]

15 SN (M=SX/HLHSX )
EHOl ROJQ XEE =AAHA NB CLEL
S-S (BN) - ANRAY - BAS (X o) o) HRE2
= 630,279
Al 1,470,650
308 XXEHXMSOIA 7,003,095 4,882,835 2,120,260
= 4,902, 166
& 630,279
Al 1,470,650
10 SI2ASHHSHEAXE A I 7,003,095 4,882,835 2,120,260
= 4,902, 166
& 630,279
Al 1,470,650
= 0l & 7,003,095 4,882,835 2,120,260
= 4,902, 166
& 630,279
Al 1,470,650
OZBMeleEsXNASHAA
7,003,095,000& * 14 7,003,095
= 4,902, 166
= 630,279
Al 1,470,650
2E9x NI 14,754 12,036 2,718
= 10,328
& 1,328
Al 3,098
308 XXESHXMSOIH 14,754 12,036 2,718
= 10,328
& 1,328
Al 3,098
10 SBI2SOCHSE A XS E AL B 14,754 12,036 2,718
= 10,328
== 1,328
Al 3,098
= 0l &F 14,754 12,036 2,718
= 10,328
& 1,328
Al 3,098
O 52X I =0
14,754,000 =14 14,754
= 10,328
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SN

B HOME 2NSA (M= /HAHENR)
S e XFE SAAMUA WS (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
& 1,328
Al 3,098
ZOHC ESX3AAL 844,302 844,302 0
= 422,151
Al 422,151
308 XAXESHMSOIA 844,302 844,302 0
= 422,151
Al 422,151
10 2|2 SOHHSHE A SR E A HI 844,302 844,302 0
= 422,151
Al 422,151
= 0ff & 844,302 844,302 0
== 422,151
Al 422,151
OFMe &sXd & FIXA
844,302,000 x 14! 844,302
== 422,151
Al 422,151
ZofoI=EXN 29 X 1,725,074 1,514,496 210,578
== 299,306
Al 1,425,768
307 QI2t01 A 1,725,074 1,514,496 210,578
c 299,306
Al 1,425,768
10 AISISXAIEEHES2IHIEX 1,725,074 1,514,496 210,578
c 299, 306
Al 1,425,768
= Ol & 1,725,074 1,514,496 210,578
= 299,306
Al 1,425,768
OXFMO sSX2 2|
1,394,505,000& = 1JH 2~ 1,394,505
== 237,666
Al 1,156,839
OZ0He EX& MIESXHAEH 29|
106,890, 000& *1JH 2~ 106,890
== 21,378
Al 85,512
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2 A = &) Dt
B HOME 2NSA (M= /HAHENR)
S e XFE SAAMUA WS (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
O&e sSXa F2UAESAIE 24|
223,679,000 * 11 A 223,679
= 40,262
Al 183,417
SSHMHUXSHMEELE X 155,470 159,900 N4,430
= 62,188
= 27,985
Al 65,297
307 212t0| A 155,470 159,900 N4 430
= 62,188
= 27,985
Al 65,297
11 AMISEIAMNGEX 155,470 159,900 N4 ,430
= 62,188
= 27,985
Al 65,297
= 0ff &F 155,470 159,900 N4, 430
= 62,188
o 27,985
Al 65,297
OZSSHMAXNSMEHE XA
155,470,000 * 1Al 155,470
= 62,188
== 27,985
Al 65,297
NI H AN EHE2A 276,022 266,000 10,022
== 81,864
Al 194,158
307 Qlz2tol & 276,022 266,000 10,022
= 81,864
Al 194,158
11 AMISIAMNGEX 276,022 266,000 10,022
& 81,864
Al 194,158
= Ol & 276,022 266,000 10,022
== 81,864
Al 194,158
OXNHEOMHC NEMXAMH A
156,000, 000& *1JH 2~ 156,000
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SM: =l ZOH et
o HUNHE SNSN(ASSX/HAHESXE)
SRl FOIQ XEH SXMHIA HB CERL
x s . Of &t o8 & & 0 A o -
SN -3 -S(3) - NRA - BES (Z= o) (713 o) HnsZ
= 39,000
Al 117,000
OZ DI RNBMBUEH 2
110,000,000 *14} 110,000
= 39,292
Al 70,708
OSZHHARYMBHE =N
10,022,0008 14! 10,022
= 3,572
Al 6,450
Tojo =ALSHE 29 365,984 273,558 9,426
= 65,877
Al 300,107
307 BI2tol® 365,984 273,558 9,426
= 65,877
Al 300,107
1 AMEISTMSREE 365,984 273,558 92,426
= 65,877
Al 300, 107
=0 4 365,984 273,558 9,426
= 65,877
Al 300,107
ONHFMHO FARBSHEH 2
160,489, 0002 +14} 160,489
= 28,888
Al 131,601
O® LY FALSHEH 29
205,495, 0008 14! 205,495
= 36,989
Al 168,506
Zojel NENVME £X 2Y 127,500 127,500 0
= 51,000
Al 76,500
307 BI2tol® 127,500 127,500 0
= 51,000
Al 76,500
05 PI2t9IEt3 127,500 127,500 0
= 51,000
Al 76,500
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SN

PSP HHZE SXNSH (AL EX/HSHESXH)
S e XFE SAAMUA WS (e &
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
= 0l & 127,500 127,500 0
== 51,000
Al 76,500
OZOHe IIFXNJEEH 29
127,500,000 =14 127,500
== 51,000
Al 76,500
ool =3tna 29 10,000 10,000 0
= 5,000
Al 5,000
307 QIz2tol A 10,000 10,000 0
== 5,000
Al 5,000
1 OABIEX AR E 10,000 10,000 0
== 5,000
Al 5,000
= 0l & 10,000 10,000 0
== 5,000
Al 5,000
O&OMe £=Sua 249 10,000, 000& =14l 10,000
== 5,000
Al 5,000
AR s K& ALY 40,000 40,000 0
== 20,000
Al 20,000
307 Q12t0l A 40,000 40,000 0
== 20,000
Al 20,000
11 Al SXAIEE X 40,000 40,000 0
== 20,000
Al 20,000
= 0l & 40,000 40,000 0
== 20,000
Al 20,000
O TS XA
40,000, 000& 14 40,000
= 20,000
Al 20,000
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S QIE D
B F o)
(¢]

& SEXNSA(AZEXN/FHSHSX )
S e XFE SAAMUA WS (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;lﬁ% HRE2
ST MIENW Z208 29 14,000 10,000 4,000
== 7,000
Al 7,000
307 212t0l A 14,000 10,000 4,000
== 7,000
Al 7,000
11 Al SXAIEE X 14,000 10,000 4,000
== 7,000
Al 7,000
= 0l & 14,000 10,000 4,000
== 7,000
Al 7,000
OLeXMel AL EHW(IHEZY) T2
29 14,000,000& * 14 14,000
== 7,000
Al 7,000
Zofe 2 ISEY Z208 29 60,000 60,000 0
= 30,000
Al 30,000
307 QIz2tol & 60,000 60,000 0
== 30,000
Al 30,000
11 AMISIAMEEX 60,000 60,000 0
= 30,000
Al 30,000
= 0l & 60,000 60,000 0
== 30,000
Al 30,000
OZHe B2 XNe g2 o2 )H &9
60,000,000 =14 60,000
== 30,000
Al 30,000
OIS E=ENH S5 269,600 0] 269,600
401 AlEHIZL201H] 269,600 0 269,600
01 Al&HI| 269,600 0 269,600
= 0l & 269,600 0 269,600
ORMWUSS=NR =5 8HHl(BFEa)
L H=Z2 B4 269,600,000& * 14! 269,600
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S QIE D
B F o)
(¢]

15 SXANSE(MISX/HLHESXHA)
chel: ZoHe dEsE SXNAHA W3 (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
TS Hel - (|LHE CXel) 100,000 0 100,000
402 QI2EXrE0l M 100,000 0 100,000
01 Q2T 2AMEEZ(RHAMIHA) 100,000 0 100,000
= 0ff &F 100,000 0 100,000
OXMLEHE =8 (SLHE CIXtal)
100,000, 0003 *14] 100,000
ZOofeI=X2 XJAAY F=& 6,000 0 6,000
201  et2I| 6,000 0 6,000
01 At 2eltl 6,000 0 6,000
= 0l & 6,000 0 6,000
OO =X XNIAY =&
6,000,000 =14 6,000
SO0t olsXdEeH 293 123,000 0 123,000
= 49,200
Al 73,800
307 QIztol M 123,000 0 123,000
= 49,200
Al 73,800
11 AMSSXALEES 123,000 0 123,000
= 49,200
Al 73,800
= 0l & 123,000 0 123,000
= 49,200
Al 73,800
O=s0tc o =X4dEH 29 123,000,000 14 123,000
= 49,200
Al 73,800
B FAESAHEAXA 112,779 0 112,779
= 78,945
= 16,917
Al 16,917
308 XXSHHMSOIH 112,779 0 112,779
= 78,945
= 16,917
Al 16,917
10 BBI2SOCHSE & XS E A HI 112,779 0 112,779
= 78,945
= 16,917

- 408 -




A S HO0C Bt
M HUNE BASH(MSBA/FHAHSNR)
Chel: HOoHel XEE EXNAMHIA M (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
10 SJI2SOCHe A& A2 E A I Al 16,917
= 0l & 112,779 112,779
= 78,945
& 16,917
Al 16,917
Oggmoe FALBEHLA N
112,779,000& %14 112,779
= 78,945
= 16,917
Al 16,917
IO Hus SSAHAXA 61,535 61,535
= 43,075
& 9,230
Al 9,230
308 AXHHMS0IH 61,535 61,535
= 43,075
& 9,230
Al 9,230
10 I 2SHCHSHE & X E AL I 61,535 61,535
= 43,075
== 9,230
Al 9,230
= 0l & 61,535 61,535
= 43,075
= 9,230
Al 9,230
oggde gdus ssMHA N
61,535,000 *14] 61,535
= 43,075
= 9,230
Al 9,230
FojelsesN2 ALY 17,000 17,000
& 17,000
401 AIZBIZ =208l 7,000 7,000
& 7,000
01 A&l 7,000 7,000
= 7,000
= 0ff &F 7,000 7,000
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S QIE D
B F o)
(¢]

15 SXANSE(MISX/HLHESXHA)
Chel: HOoHel XEE EXNAMHIA M (o2&
A EY - SA(B) - NS - B (X o) ) DS
= 7,000
O SEE=X2 SXY &
7,000,000& x 14! 7,000
= 7,000
405 RHaHHE SHI 10,000 0 10,000
= 10,000
01 A& ESFHSHI 10,000 0 10,000
< 10,000
= Off & 10,000 0 10,000
= 10,000
QXM ZEsN2 SL22(3INHE,
ol oi2d) 10,000, 000& * 14! 10,000
& 10,000
HY2AZY (=l &0 D) (IIEH/DIEL) 267,228 225,603 41,625
= 49,694
= 19,878
Al 197,656
el 2l 197,834 157,949 39,885
= 49,694
& 19,878
Al 128,262
ol 2AH| 70,446 68,421 2,025
101 o124l 70,446 68,421 2,025
01 2= 70,446 68,421 2,025
= Off & 70,446 68,421 2,025
O Al2te 224
10,2993 x 19 x30A 2t 128 70,446
olaE2gyl(=oldXtelAte) 127,388 89,528 37,860
= 49,694
= 19,878
Al 57,816
101 elA4| 127,388 89,528 37,860
= 49,694
= 19,878
Al 57,816
03 RIHAZZXRE=S 127,388 89,528 37,860
= 49,694
= 19,878
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2 A = &) Dt
M HE2XHAH| (L= &0 D) (DJIEH/IIE)
Erol: ple 2oyl CER-E
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
03 RIAHALZZXHE = Al 57,816
= 0l & 127,388 89,528 37,860
= 49,694
== 19,878
Al 57,816
OLoLdXelAlY Mol ol Y| 127,388
Pl ==1 1,183,2290& »4H 128 56,795
= 28,398
== 11,359
Al 17,038
— 50 2Egz2(0&2g2)
187,340& x4 »12& 8,993
= 4,496
== 1,799
Al 2,698
—E3EE= 2,520,000& x4 10,080
= 5,040
== 2,016
Al 3,024
— HHZAH| 130,000& *4H x12& 6,240
= 3,120
== 1,248
Al 1,872
— 22 230,000& x4H x12& 11,040
= 5,520
== 2,208
Al 3,312
—JIE4e 75,0002 x4H «12& 3,600
—Xd8xg 448 3203 x4H x12& 21,520
— Y& 50| 780,000& x4H x23| 6,240
= 3,120
== 1,248
Al 1,872
— AZ2t2 =& 60,0003 x4H x12& 2,880
=3Hl 69,394 67,654 1,740
IR 69,394 67,654 1,740
201 B2 A | 15,454 15,454 0
01 Atz 15,454 15,454 0
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SN ol ZOoH et
M A SR (L A0 D) (IIEHIIE)
el Jl= A (B9 @2
x s . Of &t o8 & & 0 A o -
N-Z3H .22 (3H) - MRAY - BES (Z= o) (713 o) Hns2
=0l 15,454 15,454 0
INEARE S 400,000 128 4,800
O=AIl S8 o 22 DI 630,508 *23] 1,261
OHRIE 4 L SHTY  193,800% #53] 969
O MBI 2 (A4,A3)
22,0009 * 168 A 128 4,224
O=AN ZE 48U 350,000 +122 4,200
202 OfHl 48,000 48,000 0
01 2ol 48,000 48,000 0
=004 48,000 48,000 0
OJlEgRsd S0
20,0002 x20% %102 * 122 48,000
203 Y=Y 5,940 4,200 1,740
04 BASYALEHY| 5,940 4,200 1,740
=0 5,940 4,200 1,740
ORNSY A2 495,0002! 128 5,940
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